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Improved Decision Making. Better Time Management.

Increased Productivity
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*Add Timelines

*Make a plan to get started

to finish these
tasks

*start tracking
Work Progress

*Start tracking
work progress

*Add comments,
Invite others
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*Do not add more than 8 tasks at a time. This is a recommended practice.

Retrospective

Firefighter - if your majority
time goes in Q1 zone

You are extremely busy - lack of planning or always the last minute, there is plenty of room for
improving planning & scheduling skills. Aim to stay more in Q2 & Q3 zone.

That's fantastic work! You are headed in the right direction. As per Stephen Covey,
successful people spend their time mainly in this zone. Keep up!

Vigilant - If your majority time
goes in Q3 zone

Delegation is good balancing. From here, your goal should be to do more of the tasks that are
important for your growth as well. Aim for Q2 zone.
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9 Working Like A Boss - If your
majority time goes in Q2 zone

It's worrisome as the work is not shaping well. It's more like procrastination or lack of clarity.
Focus on the tasks that are more meaningful & fulfilling towards some goals—practice goal setting.

-ﬁ Passive - If your majority times
"’ Aim for Q1, Q2, or Q3 zones to get started.

goes in Q4 zone
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¢ To Err is To Divine - If you spend
H similar time in all zones

You are balancing perfectly in each zone. This can happen only when either you know it all or
something is not coming outright. Try and be more realistic with your tasks or no need if it is actually.

work is done in any zone Seems there isn't enough activity today. Get started now
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